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Question Number : 1 Question Id : 8995144539 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

helps business organisations in building closer customer
relations and gaining loyal and new customers.
1 EDP
2. DSS
3. CRM
4. ESS

Options :

89951418035. 1
89951418036. 2
89951418037. 3
89951418038. 4

Question Number : 2 Question Id : 8995144540 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is a dictionary which provides synonyms of the same word.
1. Thesaurus
2. Comment
3. Grammar
4. Spellcheck

Options :
89951418039. 1



89951418040. 2
89951418041. 3
89951418042. 4

Question Number : 3 Question Id : 8995144541 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Topology is Multi-Point or multi-access or multi-drop
Topology.

1. Ring
2. Star
3. Mesh
4. Bus

Options :

89951418043. 1
89951418044. 2
89951418045. 3
89951418046. 4

Question Number : 4 Question Id : 8995144542 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

checks packets for errors and submits requests for re-
transmissions, if any are found.
1. TLD
2. DNS
3. URL
4. TCP
Options :
89951418047. 1
89951418048. 2



89951418049. 3
89951418050. 4

Question Number : 5 Question Id : 8995144543 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

can be added to page which gives meaningful background to the
page.
1. Watermark
2. Bookmark
3. Symbol
4. Header

Options :

89951418051. 1
89951418052. 2
89951418053. 3
89951418054. 4

Question Number : 6 Question Id : 8995144544 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HTTP stands for

1. Hypertext Transfer Protocol

2. Hypertext Token Protocol

3. Hyperlink Text Transfer Protocol
4. Hyperlink Text Token Protocol

Options :

89951418055. 1
89951418056. 2
89951418057. 3
89951418058. 4



Question Number : 7 Question Id : 8995144545 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

.com is an example of
1. GTLD
2. GCTLE
3. TXT
4. None of the options

Options :

89951418059. 1
89951418060. 2
89951418061. 3
89951418062. 4

Question Number : 8 Question Id : 8995144546 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Information Technology makes processing of large volumes of data,

1. Fast and accurate
2. Difficult

3. Complicated

4. Slow

Options :

89951418063. 1
89951418064. 2
89951418065. 3
89951418066. 4

Question Number : 9 Question Id : 8995144547 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The three basic elements of any communication system are, Sender,

, Receiver.
1. Source
2. Destination
3. Medium
4. Hub
Options :

89951418067. 1
89951418068. 2
89951418069. 3
89951418070. 4

Question Number : 10 Question Id : 8995144548 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is world's largest WAN.

1. Extranet
2. Intranet
3. PAN

4. Internet

Options :

89951418071. 1
89951418072. 2
89951418073. 3
89951418074. 4

Question Number : 11 Question Id : 8995144549 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What are Tables used for
1. To type paragraph
2. To organise information
3. To draw lines
4. All of the options

Options :

89951418075. 1
89951418076. 2
89951418077. 3
89951418078. 4

Question Number : 12 Question Id : 8995144550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is the numerical equivalent of your domain name.

1. TCP

2. FTP

3. IP address
4. Telnet

Options :

89951418079. 1
89951418080. 2
89951418081. 3
89951418082. 4

Question Number : 13 Question Id : 8995144551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



DSS stands for
1. Decision Support System
2. Digital Support System

3. Decision Service System

4. Digital Service System

Options :

89951418083. 1
89951418084. 2
89951418085. 3
89951418086. 4

Question Number : 14 Question Id : 8995144552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

offers users access to the Internet and related services.

1. Telnet
2. FTP
3. ISP
4. TCP

Options :

89951418087. 1
89951418088. 2
89951418089. 3
89951418090. 4

Question Number : 15 Question Id : 8995144553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



DNS is an acronym for
1. Domain Name Server
2. Data Name Server
3. Digital Naming Service
4. Data Naming Service

Options :

89951418091. 1
89951418092. 2
89951418093. 3
89951418094. 4

Question Number : 16 Question Id : 8995144554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is geosynchronous.

1. Microwave antenna
2. Satellite
3. Cables

4. All of the options

Options :

89951418095. 1
89951418096. 2
89951418097. 3
89951418098. 4

Question Number : 17 Question Id : 8995144555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



OSl is an acronym for

1. Open System Interconnection

2. Open Server Intercommunication
3. Other System Interconnection

4. Other Server Intercommunication

Options :

89951418099. 1
89951418100. 2
89951418101. 3
89951418102. 4

Question Number : 18 Question Id : 8995144556 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
is the buying and selling of goods and services over the
Internet.

1. E-mail

2. E-governance

3. Ecommerce

4. Entertainment
Options :
89951418103. 1
89951418104. 2
89951418105.3
89951418106. 4

Question Number : 19 Question Id : 8995144557 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is widely used in academic testing?

1. MICR
2. OCR
3. POS
4. OMR

Options :

89951418107. 1
89951418108. 2
89951418109. 3
89951418110. 4

Question Number : 20 Question Id : 8995144558 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

URL is an acronym for?

1. Unified Resource Locator.
2. Uniform Restore Locator
3. Uniform Resource Locator
4. Unified Restore Locator

Options :

89951418111. 1
89951418112.2
89951418113. 3
89951418114. 4

Question Number : 21 Question Id : 8995144559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



‘Airway booking of any flight from any source to any destination can be
done from anywhere’ - is an example of
1. EDI
2. Ecommerce
3. Distributed Database
4. Video Conferencing

Options :

89951418115. 1

89951418116. 2

89951418117. 3

89951418118. 4

Question Number : 22 Question Id : 8995144560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What do you mean by broadcasting in networking?
1. It means addressing a packet to all machines

2. |t means addressing a packet to some machines
3. It means addressing a packet to a particular machine

4. It means addressing a packet to except a particular machine

Options :

89951418119. 1
89951418120. 2
89951418121.3
89951418122. 4

Question Number : 23 Question Id : 8995144561 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



If someone introduces themselves in a chat room as a "newbie", what do
they mean?
1. They are a young teenager
2. They are new to the internet or the chat room.
3. They are breaking in a new computer.
4. They are looking for help in an area new to them.

Options :

89951418123. 1
89951418124.2
89951418125.3
89951418126. 4

Question Number : 24 Question Id : 8995144562 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The transceiver is also known as
1. hub
2. switch
3. router
4. modem
Options :
89951418127. 1
89951418128. 2
89951418129. 3
89951418130. 4

Question Number : 25 Question Id : 8995144563 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is NOT an output device of a computer?

1. Printer

2. Visual Display Unit
3. Keyboard

4. CRT screen

Options :

89951418131. 1
89951418132. 2
89951418133.3
89951418134. 4

Question Number : 26 Question Id : 8995144564 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A may insert computer viruses or computer worms on
devices connected to the network.

1. hacker
2. admin
3. user

4. server

Options :

89951418135. 1
89951418136. 2
89951418137.3
89951418138. 4

Question Number : 27 Question Id : 8995144565 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The “Golden Rule” of Netiquette is
1. Never spam your friends.
2. Never flam your friends.
3. Be friendly in chat and e-mails
4. Remember the human.

Options :

89951418139. 1
89951418140. 2
89951418141.3
89951418142. 4

Question Number : 28 Question Id : 8995144566 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In network gateway, the authentication or protection is
supported.
1. strategic level
2. admin level
3. user level
4. operational level

Options :

89951418143. 1
89951418144. 2
89951418145. 3
89951418146. 4

Question Number : 29 Question Id : 8995144567 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



API stands for

1. Application Program Interface

2. Application Program Information
3. Applied Public Interface

4. Applied Program Information

Options :

89951418147. 1
89951418148. 2
89951418149. 3
89951418150. 4

Question Number : 30 Question Id : 8995144568 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a deployment method?

1. Community Cloud
2. Public Cloud

3. Country Cloud
4. Hybrid Cloud

Options :

89951418151. 1
89951418152. 2
89951418153.3
89951418154. 4

Question Number : 31 Question Id : 8995144569 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
ERP stands for

1. Enterprise Remote Procedure
2. Entity Resource Planning

3. Enterprise Resource Planning
4. Entity Remote Planning

Options :

89951418155 1
89951418156. 2
89951418157.3
89951418158. 4

Question Number : 32 Question Id : 8995144570 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Paa$S stands for

1. Platform as a Software
2. Personnel as a Service
3. Platform as a Service

4. Personnel as a Software

Options :

89951418159. 1
89951418160. 2
89951418161. 3
89951418162. 4

Question Number : 33 Question Id : 8995144571 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The computing resources are pooled to serve multiple consumers using
a multi-tenant model. This characteristic is included in

1. Rapid Elasticity

2. On-demand Self-service
3. Resources pooling

4. Measured Services

Options :

89951418163. 1
89951418164. 2
89951418165. 3
89951418166. 4

Question Number : 34 Question Id : 8995144572 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

has physical existence.

1. Hardware

2. Instruction
3. Software
4. Operating system

Options :

89951418167. 1
89951418168. 2
89951418169. 3
89951418170. 4

Question Number : 35 Question Id : 8995144573 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



appears at the bottom of the window and provides information
about the current page number, total number of words in the document.

1. Ribbon

2. Toolbar

3. Quick Access Toolbar
4. Status Bar

Options :

89951418171. 1
89951418172.2
89951418173.3
89951418174. 4

Question Number : 36 Question Id : 8995144574 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Example(s) of Cloud Computing include

1. Microsoft Office 365
2. Google Drive
3. Amazon Elastic Compute Cloud

4. All of the options

Options :

89951418175. 1
89951418176.2
89951418177. 3
89951418178. 4

Question Number : 37 Question Id : 8995144575 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



translates the whole program at a time into an equivalent
machine language program.

1. Compiler
2. Assembler
3. Interpreter
4. Operating system

Options :

89951418179. 1
89951418180. 2
89951418181. 3
89951418182. 4

Question Number : 38 Question Id : 8995144576 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The person whom we call “Father of Computers” is

1. Howard Aikens
2. Herman Hollerith

3. Charles Babbage
4. Blaise Pascal

Options :

89951418183. 1
89951418184. 2
89951418185. 3
89951418186. 4

Question Number : 39 Question Id : 8995144577 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



VMM stands for

virtual memory manager
vital memory manager
virtual machine manager
visual machine manager

hWN =

Options :

89951418187. 1
89951418188. 2
89951418189. 3
89951418190. 4

Question Number : 40 Question Id : 8995144578 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Television is an example of mode of communication.

1. Simplex

2. Duplex

3. Half Duplex

4. None of the options

Options :

89951418191. 1
89951418192.2
89951418193.3
89951418194. 4

Question Number : 41 Question Id : 8995144579 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



prints one character at a time.

1. Laser printer

2. Plotter

3. Dot matrix printer
4. Ink jet printer

Options :

89951418195. 1
89951418196. 2
89951418197.3
89951418198. 4

Question Number : 42 Question Id : 8995144580 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A program at the time of execution is called

1. Dynamic program
2. Static program
3. A Process

4. All of the options

Options :

89951418199. 1
89951418200. 2
89951418201. 3
89951418202. 4

Question Number : 43 Question Id : 8995144581 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The users directly use the applications running on the
Cloud infrastructure.

1. SaaS
2. BaaS
3. laaS
4. PaaS

Options :

89951418203. 1
89951418204. 2
89951418205. 3
89951418206. 4

Question Number : 44 Question Id : 8995144582 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The language made of Os and 1s is called

1. High level language
2. Assembly language
3. Machine Language
4. Middle level language

Options :

89951418207. 1
89951418208. 2
89951418209. 3
89951418210. 4

Question Number : 45 Question Id : 8995144583 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



DDL stands for
1. Data Dictionary language
2. Data Definition Language
3. Data Description Language
4. All of the options

Options :

89951418211. 1
89951418212. 2
89951418213.3
89951418214. 4

Question Number : 46 Question Id : 8995144584 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

attacks attempt to disrupt a host or network resource in
order to make authentic users unable to access the computer service.

1. Virus

2. DoS

3. Brute force attack
4. Decryption

Options :

89951418215. 1
89951418216.2
89951418217. 3
89951418218. 4

Question Number : 47 Question Id : 8995144585 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



is a software that separates physical infrastructures to create
various dedicated resources.

1. Fragmentation
2. Virtualisation
3. Replication

4. Visualisation

Options :

89951418219. 1
89951418220. 2
89951418221.3
89951418222. 4

Question Number : 48 Question Id : 8995144586 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is a characteristic of Cloud Computing.

1. Local network
2. Unmeasured services
3. On-demand self-service
4. Unshared Resources
Options :
89951418223. 1
89951418224.2
89951418225.3
89951418226. 4

Question Number : 49 Question Id : 8995144587 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Operating system is

1. System software

2. Application software
3. Utility software

4. Software package

Options :

89951418227. 1
89951418228.2
89951418229. 3
89951418230. 4

Question Number : 50 Question Id : 8995144588 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Data mining means

1. Accessing data

2. Adding data

3. Writing queries

4. Extract Information

Options :

89951418231. 1
89951418232.2
89951418233. 3
89951418234. 4

Question Number : 51 Question Id : 8995144589 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



systems have a free interaction with the environment.

1. Closed System
2. Open System
3. Physical System
4. Logical System
Options :
89951418235. 1
89951418236. 2

89951418237.3
89951418238. 4

Question Number : 52 Question Id : 8995144590 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is one of the types of data breaches.

1. DoS
2. offline encryption
3. Online cyber theft
4. Virus

Options :

89951418239. 1
89951418240. 2
89951418241. 3
89951418242. 4

Question Number : 53 Question Id : 8995144591 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



is the person who analyses the system.

1. System Designer
2. System Developer
3. System Analyst
4. System Writer
Options :
89951418243. 1
89951418244. 2
89951418245. 3
89951418246. 4

Question Number : 54 Question Id : 8995144592 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is Google cloud comprising of Google docs, slides, sheets,
Google+, Google drive.

1. Azure
2. Picasa
3. G suite
4. Amazon
Options :
89951418247. 1
89951418248. 2
89951418249. 3
89951418250. 4

Question Number : 55 Question Id : 8995144593 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



BON method is based on many of the same concepts as the .
1. Eitel programming language
2. Finnel programming language
3. Eiffel programming language
4. Eiffel graphical language
Options :
89951418251. 1
89951418252. 2

89951418253.3
89951418254. 4

Question Number : 56 Question Id : 8995144594 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is/are function/s of operating system

1. Process management

2. Memory management

3. Input/Output management
4. All the options

Options :

89951418255. 1
89951418256. 2
89951418257.3
89951418258. 4

Question Number : 57 Question Id : 8995144595 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



tool gives a detail description of the data used by the system.
1. Entity Relationship Diagram
2. Data Unit
3. Data Element
4. Data Flow Diagram
Options :
89951418259. 1
89951418260. 2

89951418261. 3
89951418262. 4

Question Number : 58 Question Id : 8995144596 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Customer Service Culture is
1. A new form of yogurt where the lid removes itself for you.
2. Behaviour being analysed in a Petrie dish for contagions.

3. An environment where customer service permeates the thinking of the
entire company.

4. A mythical civilisation in which everyone smiles and welcomes you
when they meet.

Options :

89951418263. 1

89951418264. 2

89951418265. 3

89951418266. 4

Question Number : 59 Question Id : 8995144597 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Most search engines support the use of boolean operators AND,
and NOT.
1. If
2. For

3. OR
4. None of the options

Options :

89951418267. 1
89951418268. 2
89951418269. 3
89951418270. 4

Question Number : 60 Question Id : 8995144598 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Data can be defined as

1. Facts and figures
2. Numbers
3. Photos

4. Information

Options :

89951418271. 1
89951418272. 2
89951418273.3
89951418274. 4

Question Number : 61 Question Id : 8995144599 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TPS stands for
1. Transfer protocol systems
2. Transaction Processing System
3. Transferring Product System
4. Transaction Protocol system
Options :
89951418275. 1
89951418276. 2

89951418277. 3
89951418278. 4

Question Number : 62 Question Id : 8995144600 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As an Internet marketing strategy, considers how search
engines work, what people search for, the actual search terms or
keywords typed into search engines and which search engines are
preferred by their targeted audience.

1. webpage

2. CEO

3. BED

4. website
Options :
89951418279. 1
89951418280. 2
89951418281. 3
89951418282. 4

Question Number : 63 Question Id : 8995144601 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



is a centralised office used for receiving or transmitting a large
volume of requests by telephone.

1. Telephone exchange

2. Telephone booth

3. Call Center

4. Calling Booth

Options :

89951418283. 1
89951418284. 2
89951418285. 3
89951418286. 4

Question Number : 64 Question Id : 8995144602 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Microsoft first launched Search in the fall of 1998 using search
results from Inktomi.
1. Lycos
2. MSN
3. Magellan
4. Yahoo
Options :
89951418287. 1
89951418288. 2
89951418289. 3
89951418290. 4

Question Number : 65 Question Id : 8995144603 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



All Database access and rights are in hands of

1. Naive users

2. DBA

3. Sophisticated Users
4. Developer

Options :

89951418291. 1
89951418292.2
89951418293.3
89951418294. 4

Question Number : 66 Question Id : 8995144604 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Using CASE allows designers, code writers, testers, planners, and
managers to share a view of where

1. project stands at each stage of development.

2. project has to be modified
3. project has to be tested
4. project has to be implemented

Options :

89951418295. 1

89951418296. 2

89951418297. 3

89951418298. 4

Question Number : 67 Question Id : 8995144605 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The benefits of cloud computing services include

1. ability to store locally.

2. ability to scale globally.

3. ability to access locally.

4. ability to not allow sharing of database

Options :

89951418299. 1
89951418300. 2
89951418301. 3
89951418302. 4

Question Number : 68 Question Id : 8995144606 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Duplication of record is NOT allowed in DBMS because of
property of Database.

Data integrity
Security
Concurrency
Alertness

I

Options :

89951418303. 1
89951418304. 2
89951418305. 3
89951418306. 4

Question Number : 69 Question Id : 8995144607 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which is NOT one of the types of prototype of Prototyping Model?

1. Horizontal Prototype
2. Vertical Prototype
3. Diagonal Prototype
4. Domain Prototype

Options :

89951418307. 1
89951418308. 2
89951418309. 3
89951418310. 4

Question Number : 70 Question Id : 8995144608 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An is operated by a company to administer incoming product
support or information inquiries from consumers.
1. Outbound call center
2. Inbound call center
3. General call center
4. Central call center

Options :

89951418311. 1
89951418312.2
89951418313.3
89951418314. 4

Question Number : 71 Question Id : 8995144609 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The  relates to the actual input and output processes of the
system.
1. Logical Design
2. System Design
3. Physical Design
4. Logical and Physical system design
Options :
89951418315. 1
89951418316. 2
89951418317. 3
89951418318. 4

Question Number : 72 Question Id : 8995144610 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

can be defined as the delivery of computing services like

servers, storage space, databases, networking, software, analytics and
many more utilities over the Internet

1. Word Processing
2. Excel
3. ERP

4. Cloud Computing

Options :

89951418319. 1
89951418320. 2
89951418321.3
89951418322. 4

Question Number : 73 Question Id : 8995144611 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
ITES stands for

1. Information Technology Enabled Service

2. Information Technology Engineering Service
3. Information Technology Enabled Station

4. In Time Enabled Service

Options :

89951418323. 1
89951418324. 2
89951418325.3
89951418326. 4

Question Number : 74 Question Id : 8995144612 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In E-R diagram, Entity is shown with symbol.

1. Rectangle
2. Square
3. Diamond
4. Line

Options :

89951418327. 1
89951418328.2
89951418329. 3
89951418330. 4

Question Number : 75 Question Id : 8995144613 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What is meant by RAD?
1. Read and Design

2. Right Analysis and Design
3. Rapid Application Development

4. All of the options
Options :
89951418331. 1
89951418332.2

89951418333.3
89951418334. 4

Question Number : 76 Question Id : 8995144614 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

consists of the detailed description of data like its name,
description, where is it stored etc.
1. Entity relationship Diagram
2. Data Elements
3. Decision Table
4. Data Dictionary
Options :
89951418335. 1
89951418336. 2
89951418337. 3
89951418338. 4

Question Number : 77 Question Id : 8995144615 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Collection of data in a single table is referred as data.
1. Unnormalized
2. Normalized
3. Row Data
4. Column Data

Options :

89951418339. 1
89951418340. 2
89951418341. 3
89951418342. 4

Question Number : 78 Question Id : 8995144616 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Putting information into GIS is called?
1. Data store
2. Data capture
3. Info Store
4. Info Mall

Options :

89951418343. 1
89951418344.2
89951418345. 3
89951418346. 4

Question Number : 79 Question Id : 8995144617 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

users use query language to extract the desired output.
1. Naive users
2. Programmers
3. Sophisticated Users
4. Specialized Users



Options :

89951418347. 1
89951418348. 2
89951418349. 3
89951418350. 4

Question Number : 80 Question Id : 8995144618 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SEQUEL stands for .

1. Query Language
2. Semi Query English language
3. Structured English Query Language
4. Sequential Query English language
Options :
89951418351. 1
89951418352. 2
89951418353. 3
89951418354. 4

Question Number : 81 Question Id : 8995144619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is the first phase in the system development life cycle.

1. Planning
2. Analysis
3. Implementation
4. Testing

Options :

89951418355. 1
89951418356. 2
89951418357.3



89951418358. 4

Question Number : 82 Question Id : 8995144620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

takes care of the conflict when many users access the same data
simultaneously.
1. Server control
2. Redundancy control
3. Database control
4. Concurrency control

Options :

89951418359. 1
89951418360. 2
89951418361. 3
89951418362. 4

Question Number : 83 Question Id : 8995144621 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which phase transforms the requirements into specifications suitable
for program development?

1. Planning
2. Analysis
3. System Designing
4. Testing

Options :

89951418363. 1
89951418364. 2
89951418365. 3
89951418366. 4



Question Number : 84 Question Id : 8995144622 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is NOT a DML command.

DELETE
DROP

SELECT
UPDATE

Options :

89951418367. 1
89951418368. 2
89951418369. 3
89951418370. 4

e

Question Number : 85 Question Id : 8995144623 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What can GIS NOT be used to visualize?
1. Patterns
2. Tables
3. Trends
4. Relationships

Options :

89951418371. 1
89951418372. 2
89951418373.3
89951418374. 4

Question Number : 86 Question Id : 8995144624 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



System Development Life Cycle in Software engineering refers to

1. Process of dealing with a problem of an information system.

2. Process of designing an information system.

3. Process of Planning and executing a system

4. Process of planning, creating, testing, & deploying information system

Options :

89951418375. 1
89951418376. 2
89951418377.3
89951418378. 4

Question Number : 87 Question Id : 8995144625 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The was introduced to depict the relational model.

1. Entity

2. Entity Relationship diagram
3. Relational diagram

4. Case diagrams

Options :

89951418379. 1
89951418380. 2
89951418381. 3
89951418382. 4

Question Number : 88 Question Id : 8995144626 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Word is a product of

1. Google
2. Apple
3. Microsoft
4. Oracle

Options :

89951418383. 1
89951418384. 2
89951418385. 3
89951418386. 4

Question Number : 89 Question Id : 8995144627 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Each entity is related to other entity with one of the following relations 1:1,
1: Many or Many: Many called as
1. Cardinality
2. Logical relation
3. Physical relation
4. Conceptual relation

Options :

89951418387. 1
89951418388. 2
89951418389. 3
89951418390. 4

Question Number : 90 Question Id : 8995144628 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



All modules are integrated together and the entire system is tested
which is called as :

1. Module Testing
2. Unit Testing

3. System Testing
4. Coding

Options :

89951418391. 1
89951418392. 2
89951418393.3
89951418394. 4

Question Number : 91 Question Id : 8995144629 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Command used to add new column in existing table.
1. Create
2. ADD
3. Alter
4. Define

Options :

89951418395. 1
89951418396. 2
89951418397. 3
89951418398. 4

Question Number : 92 Question Id : 8995144630 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



model is a type of incremental model.

1. RAD model

2. lterative waterfall model
3. Waterfall Model

4. Spiral Model

Options :

89951418399. 1
89951418400. 2
89951418401. 3
89951418402. 4

Question Number : 93 Question Id : 8995144631 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In , basic characteristics are inherited from parent entity.
1. Serialization

2. Aggregation

3. Generalization

4. Specialization

Options :

89951418403. 1
89951418404. 2
89951418405. 3
89951418406. 4

Question Number : 94 Question Id : 8995144632 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



All modules are integrated together and the entire system is tested
which is called as

1. Module Testing
2. Unit Testing

3. System Testing
4. Coding

Options :

89951418407. 1
89951418408. 2
89951418409. 3
89951418410. 4

Question Number : 95 Question Id : 8995144633 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is part of Planning phase?
1. Feasibility Study
2. Coding

3. Testing
4. Training

Options :

89951418411. 1
89951418412. 2
89951418413.3
89951418414. 4

Question Number : 96 Question Id : 8995144634 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



helps you to repeat content at the top of every page in Word

1. Footer
2. Title

3. Header
4. Smart Art

Options :

89951418415. 1
89951418416.2
89951418417.3
89951418418. 4

Question Number : 97 Question Id : 8995144635 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

means using an external vendor to build or operate a firm's
information systems.

1. Freelancing

2. QOutsourcing

3. Out bounding
4. On-Site

Options :

89951418419. 1
89951418420. 2
89951418421.3
89951418422. 4

Question Number : 98 Question Id : 8995144636 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A key used to connect two tables is
1. Foreign key
2. Primary Key
3. Super key
4. Candidate key

Options :

89951418423. 1
89951418424. 2
89951418425.3
89951418426. 4

Question Number : 99 Question Id : 8995144637 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is a set of prewritten, pre-coded application software
programs that are commercially available for sale or lease.

1. Testing and documentation software

2. Programming package
3. Application software package
4. Tailor made software

Options :

89951418427. 1
89951418428. 2
89951418429.3
89951418430. 4

Question Number : 100 Question Id : 8995144638 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



is NOT an example of Cloud Computing.

1. Gmail
2. OneDrive
3. YouTube
4. Excel

Options :

89951418431. 1
89951418432. 2
89951418433.3
89951418434. 4



